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1N Mwn: more on father’s credibility vis-a-vis his daughter’s status

a
b
c

if: father states that he accepted pwyTp and v for her and she is still a mvp — believed (status: N11N2% NY109)
however: same claim (that he accepted both while she was a mvp) but she’s now mature — not believed (status: nn35 Nw3)
in either case: if he claims that she was taken captive and he redeemed her not believed (status: n1n2% nw3)

Analysis: reason for distinction between niop nmy (believed) and if she’s currently older (not believed)

a

b

Answer1: when she’s a mvp, he still has the ability to marry her off
i Challenge: he could have married her to a %9, invalidating her from nan3
1 Response: follows "Rno1T 1 — women “purify” o99n (>they don’t become mYon as a result)
ii ~ Challenge: he could have married her to a 71an (RY ¥2N1 Poan PYVITP)
1 Response: follows ™ - IRY 727N pomin pWITP PR
iii ~ Challenge: could have married her as (701X 10) NINOR to a 3”13 as per RO "7's take on y™ (v. 1)
1 Response: follows 12w’ "1’s take on p™ — even 3125 MnOR generates tnn (>no PWVITP)
iv  Challenge: could have married her to nwy »a7n (e.g. 1t generation "MTR/™M¥N convert
Rejection of answerl (»wx 27): isn’t in his control to be wTpn her
i Rather: nmn gave him credibility when she’s a mvp as per v. 2; no credibility vis-a-vis n"12w (or n91m)

2n mwn: credibility of father on his deathbed vis-a-vis his wife and m12»% npt

a

b

if: he says that he has sons (D127 1 NMv9) — believed
but if: he says that he has brothers (= generates np’1) - not believed
i observation: mwn evidently doesn’t jibe with jm "3 — who states that he is believed morY as well as 1'nn?
1 case: if he made 1 declaration at time of PP (vis-a-vis sons/brothers) and the opposite at time fo death
(a) 227 we only believe his “new position” to permit her (i.e. that he has no brothers or he has children)
(b) r2 77 we believe his new declaration for moR as well as 1’0
2 answerl (827): since he changed his mind on his deathbed, we believe him
(a) Challenge (»ax): should be 1" to believe him in our mwn, where he didn’t change his story
3 Answer2 (»38): mwn is case where we know nothing about him - he doesn’t have power to ban her;
(a) But: ®n» 1 is case where we know him to have brothers but not sons. His statement which permits her is
believed on grounds of 1pwY *5 nn — he could’ve exempted her via 03
(i) 227 9pWY Y Nn (at time of PWITP) is as strong as 0Ty and can uproot the nprn (of D125 Nppr)
(if) 2 77 9pwY Y NN (at time of PWITP) is as strong as a NptN — cannot overturn npn (of original status)

3n mwn: PYITP with an unknown party

a

if someone accepts pwyTp for his daughter — without specifying which —mana aren’t included
i implication: all m1vp are considered — although this is 1X?2% PN PRY PYVITP (NYR MNR)
ii  answerl: case where he only has 1 mvp (but the phrase m na militates against that — defense: XnYyT mAna)
1 block: if so, it's obvious that only the nivp is a possible nwTpnn
(a) defense: X"10 he wouldn’t ignore his older daughter in favor of his younger
(b) Answer: he’ll always go for the source of revenue/nRin (Mop "v11p go to the father)
(i) and even: if N1 told him that the pw1Tp are his; he won’t forestall his mxn (of marrying off niop)
v mwn: someone had two sets of daughters with 2 wives and he accepted pwyp for his “n%m” daughter
i n™-—all are MoR except for youngest (people use phrases which are ambiguous — we account for all meanings)
ii oy "1 - only eldest is 1mn (people will not use ambiguous language — he only meant absolute, unqualified eldest)
parallel case: inverted (using mvp) - same rulings
i justification: perhaps, even though n113 may refer to several, there is only one mvp (and n" agrees with »ov ") — 5"np
ii  challenge: their positions are reversed in 2:n 07T regarding interpretation of noan 79 1y
1 answerl: (27) — switch positions in D*111 (supporting xn»1)
(a) observation (»7ax): only disagree if there are 2 sets of girls; in one family, only eldest (or youngest) is candidate
(b) challenge: noa is like one group — and they disagree
2 answer2 (827): dispute in DM is in re: meaning people impute to "8 —n*1 follow lingua franca
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